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 1משוואות ובידוד משתנה 
 

 

 
1. a3x2b  

 bax  

 8ba 22  
 ?xמה מהבאים יכול להיות ערכו של  

 

 (1) 8   (2) 4   (3) 2   (4) 2 
 

 

2. 2a 2 ab   

38abb2  
aמה מהבאים יכול להיות ערכו של הביטוי b? 

 

(1)  5   (2) 6   (3) 36   (4) 35 
 

 

3.     2x a x b x 12x 35      

 ?b-ו aמהו הממוצע של  
 

(1)  4   (2)  5   (3) 6   (4) 11 
 
 
4. 3x 2z 2y 18   

 6x 4y z 3   

  z ?  
 

(1) 11   (2)  12   (3) 6   (4) 3 
 

 

5. 23y 18 

 26x 12 
    y x y x ?    

 

(1)  4   (2)  24   (3) 5   (4) 8 
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